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Ry I AER
BNo.5+17.606 0.000] 5.13 1.74
BNo.5+11.500 6.106] 5.13 5.13 31.3 1.74 1.74 10.6
BNo.5 11.505|  4.78 4.96 57.1 1.53 1.64 18.9
BIP.3 3.249  4.66 4.72 15.3 1.42 1.48 4.8
BNo.4 16.767|  4.72 4.69 78.6 1.43 1.43 24.0
BNo.3+19.338 0.669| 4.72 4.72 3.2 1.43 1.43 1.0
38.296 EFD|  185.5 59.3
SR 3.557 1.94 6.9 1.03 3.7
/NEHO) 6.9 3.7
230-1- 15 AL
B 4.000[  2.79 11.2 0.70 2.8
PN 3.450)  4.59 15.8 1.96 6.8
NEFR] 270 T 96
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AR IH L & LD
T 1 FRAE R PERR
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- YRR DOEH 13 +¥AX0.289m
1 2 3 4 5 (FA%EE) YIVAER
8.670 8.670 8.670 8.670 3.757 38.437 m
. EREER = 38437 - 0.289 / 2 = 38.293 [m
Ky AR AR E IR 7
38.100 < 38.293 + 0.193 m OK
S AR
JRAE g (m) REERm)  JEEk HEm2) mE(m)
GN-150MP-4 A= 1.280 X 38.293 X 2 = 98.0 0.3
GN-150MP-3 A= 0.960 X 38.293 X 2 = 73.5 0.3
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N=( 200+ 2 ) x 6 [ |k
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i o= 12.6 m2

W~y AT [ 12.6 m2¥0]EE k2@5
- IIUNE VR B
Tk & (m) YVIEREm) B mEm2)  BeAZE mEfEm2)

GN-150MP(f& #£) A= 2.560 x 2601 x 2 = 133 105 = 14.0]m2

« BERM (VY A Uh)

A BL FHEEY VI F[ e 4
FEEHM N= 0 X 0 + 0 = 0 fH x 0 = 0 L
BT 5 N= 0 X 0 = 0 @ x 0 = 0 L

2 :| O|i’~yl‘ L

o« WL B IEA (RAHE A #AT t=2mm)
B BAE + BAM7y7En) X (EEHFMT7y7iEm X Jy7 % + RELEEM)
JE e ooy N AR X i &
A= (5720 + 0500 ) x (01 x 1 + 2457 ) =[ 159]m2
AT BN E T
N AR E L=( 2560 + 0.300 ) x 2 — 5720 m
F97 K N=  2.457 /  1.900 = 1 &

- BHET V(020 X 300)
7K Ty T BB R/ ERT)

N=( 1 + 9 ) X 6 :715

- R (RC-40) : 12.5cmBBZ17.5emBL T A:m2 2@y BETERY




KT AH VN — N B

T fE

feke

" oE X

[ IV 2NN 7P S ¢ KR I AN =N OFERER AR ORI X2 R

W Ry =R E T

L= 36.090 +  2.005

Ry AN —ha% i [ 10m24 9]

=]

I AIWN =M T K45 @ 1.25< NZEIEB=<2.5 0<NZEEH<1.25

| 1= 10.000
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B B A LR X230-1-15 ALK 2R 1 =
AL Y] N 1 #
TER7 By7A  2190kg/3L N= 1 f&
K7 ay7C 2790kg/ 3 N= 1 f&
NALEEZE M4 ) /K T-25, ¢ 600 N 1.000 #H
ST LA 3o bR N 1.000 #8
A B RS 25mmE T N 1.000 #H
I AEELI N N 1.000 4&¥
B B A FLERIE N= 1 1 &
AN FLERE T 15540]
I N FLIR A N= 2 2.000 f#
BT N= 1 1.000 1
FLREPRRRER & 1.: 1980 X 150 X 1980,1212kg
N= 1 1.000 #
W AT T )T -2 &S Tavy)— 24815 X5
N= 1 1 f&FT
Eexrav ) —h-2[ 106 T4 ]
a7 —h
24-8-BB,W/CHsEHA| V= 0.261 X 10 2.610 m3
Py A= 1.903 X 10 19.030 m2
$RfH:D13 W= 4.224 X 10 / 1000 0.042 t
ZE{:D13 1=100,n=12+8=20 THRFR
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R R AR A T PEEIE2.0mLL T, 18%,BHO0.45
38.10 WyI AR 38.10 m
R R 51 H PEEEE2.0mEL T, 18, BH0.45
L= 38.10 Ky AEE 38.10 m
BEA R R L B PJEHIE2.0mEL T, 1B K ER
L= 38.10 R AIE R 38.10 m
REAe R L ik PEHAE2.0mEL T, 1B K ER
L= 38.10 Ry ) AIEFR 38.10 m
IR SR - R AR AR E R AR SRR ES 1 X
- TMIEELUE R
« KIS E-NEEE
- KIERVTERE
B LR I AED)
BT TS BRE T
A= 38.10 x  3.00 114.3 m2
BT TR AT
A= 38.10 x  3.00 114.3 m2
FepEa )R E - A T
L= 38.10 38.10 m
FeRE )R E - B T 10m4 0] SARFR TR E 2
ayyy—k
18-8-BB,W/CHiEM| V=10.25X0.1X2X10 0.500 m3
HIPL()1L) A=0.1X2X10 2.000 m2
FEHER A A= 0.25X2X%10 5.000 m2
RC-40,t=15cm
ERFColE~ALoy| v=0.25X0.1 X2X 10 0.500 m3
TR E R 3000 X 1000 X 200 X 208kg/m2
A= 54.0 17" my /40 & 54.0 m2
i H-200 X 200 X 8 X 12 X 49.9kg/m
HAZH & sk W= 1.796 17y B0 s 1.796 t
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T il B OoE X =
W AR R GE A FLER)
BRI BEA T PEAIEE2.5mEL T, 1B, BHO.45
L= 3.45 + 3.45 = 6.90 m
BRI 513k T PEEEE2.5mEL T, 18, BH0.45
L= 3.45 + 3.45 = 6.90 m
28 gl R B R 1 =
LSP2# 1.=2.5m W= 690 X 2.5 X X 47.2  kg/m2 /1000 = 1.628 t
UIIER LR E - LT
H-250 X 250 X 9 X 14 X 80kg/mllI TA44
o kS w=(  3.41 + 241 ) X 2 x 0.080 = 0931 t
B R (A) W= 0.931 X  0.22 = 0.206 t
- FIEH(B) W= 0931 X  0.04 = 0.037 t
3= 1173 t = 1.173 t
LB BT B T ERE = 0.931 t
B 2 TR ATLE)
BT BTN BRE T
A= 4.00 x  4.00 = 16.0 m2
BT T BT
A= 4.00 x  4.00 = 16.0 m2
FpfEa )R ERE L
L= 4.00 = 4.00 m
FeffE 7Y - E A T 10m %Y ] SR ER L BRI VE X 2 R
ayy)—}
18-8-BB,W/CHa &M V=0.30X0.1X2X10 = 0.600 m3
TIR(E1L) A=0.1X2X10 = 2.000 m2
HpEeA A=0.30X2X10 = 6.000 m2
RC-40,t=15cm
MG CoBE~ALr] V= 0.3X0.1X2X 10 = 0.600 m3
B THRER 2000 X 1000 X 200 X 208kg/m2
FRBLE 1 A= 400 x  4.00 = 16.0 m2
w= 16.0 x 0.208 = 3.328 t
AT H-300 X 300 X 10X 15 X 93kg/m
HIFZ 80 &kt 4.00 X 3 X 0.093 = 1.116 t




B R - L ORI A FLER) K

T i " oE X o =
W 7B TARBHPA T | st
BAEA B %k

A= 16.0 m2 X 3 H = 48 m2
RAR ERHi77) B A A =TI ST
R A E R B = W= 1.628

+ 0931 + 0.206 + 3.328 + 1.116

= 7.208 t
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BV 7 PR R N= 1 B
ANV L 75 X TFERHE SR N= 10 H




B BTN O

T i HoE X T =
B 170y 40 (R R
17'my/ 4 EAHI &
L= 170 + 1.0 = 18.0 m
L= 17.0 m XKyI/2N-MOEREREEE R HARI-14-@-27
= 1.0 m  SEAHNE:0.5+0.5=1.0m
HE BB AR BRHI = R Eogill BN
LSp27iy W= 18.0 X 2.0 X 2 X 472 kg/m2 /1000 = 3.398 t
BHHIE RARME Logill
N= 180 =+ 0.25 X 2 = 144 #¢
TAVIEREL BRHI B Eogil B
N= 18.0 +~  4.00 X 2 X 1 = 9 A
IKJEY R — M) BRHI = & A/ Btk
N= 18.0 = 4.00 x 2 X 1 = 9 K
AW B 7= TR AN B
3000 1000 X 200 W= 18.0 X 3.0 x  208.0  kg/m2 /1000 =l 11.232 t
BHHIE B
A= 18.0 X 3.0 = 54.0 m2
B L AMT BAHI [Lagiill VA5
H200X200x8%12 | w= 18.0 X 2 X 49.9  kg/m /1000 = 1.796 t
RAR B AT
IR I W= 3.398 + 11.232 + 1.796 =| 16.426 t
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G - 18 10 TR AT T H X2

T T #HoE bEg &
LAARE(— %) L= 1520 m
e L= 15.20 — 0.60 X 1 E R P = 14.60 m
=18 L= 15.20 0.70 X 1 TR AR = 14.50 m
LAAEGREN) = 1750 m
fE L= 17.50 - 0.60 X 2 S R 2 = 16.30 m
BIH L= 17.50 0.70 X 2 HTER bR = 16.10 m
LA S (— i)
e N= 1 = 1 f&p7
5’47&2”;“3 N= 1 _ 1 &
LA IR (R )
S N= 2 _ -

447" DE 1H N= 2 = 9 i
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e S T MRSt —UKRE | RCo - 277
(m3) (m3) )
LA (— %)
FE& T
TR V= 14.60 X 0.499 / 10 =l 073
HEfCo|V= 14.60 x 1.420 / 10 = 2.07
LA GRA)
e XA g5
TR V= 16.30 X 0.190 / 10 =l 0.31
AL Co|V= 16.30 X 1.430 / 10 = 2.33
LAUE A (— %)
& T A s
TRELE V= 1 X 0499 /10 =l 0.05
HEAH Co|V= 1 X 1991 / 10 = 0.20
rL—F W= 1 X 17.8 /1000 = 0.018
LAUE IR CGR )
& T A s
TRELE V= 2 X 0190 / 10 =l 0.04
HEAH Co|V= 2 X 1991 / 10 = 0.40
ry—F W= 2 X 178/ 1000 = 0.036
aE 113 5.00 0.054
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AT TP X 2

% B R W

WA AR IR

RAR IR - SRR D)W A R AL 5y

KAE B C2AEEL 5 95,

s SEEERT I (As15embEL F) WkEE L1 t/m3 1@ t L sy B ey
As5cm As4cm at(m) Asbem V= 0.023 0.050 x 90.3 = 0.104 m3
FEIE AL #HiE(  16.0 16.0 Asdcm V= 0.023 0.040  x 151 = 0.014 m3
R T #iE| 8.5 8.5 A= 0118 m3 0.130 t
ST BE|  48.3
HR3HE (— %) 15.1 80.9
AIEGEA)| 175
Z(m)|  90.3 15.1 105.4
% EHEERRUABA (As15emBL ) STALSY AR LSy
Asbcm Asdcm #t(m2) t=Hcm t=4cm F(m3) t=36cm | t=10cm | t=20cm #(m3)
FEE LB HE|  16.0 16.0 0.80 0.80 5.60 5.60
CLivAk=gn BIE[ 5.0 5.0 0.25 0.25 1.75 1.75
NSRS B3E| 759 3.80 3.80 26.57 26.57
HAE (— %) 12.4 102.8 0.50 0.50 1.24 1.24
HOEEEAN)| 145 0.73 0.73 2.90 2.90
Fm2)f 123.8 ZHm3)|| 6.08 Z+(m3)]| 38.06
%4 ShEERE IR _
BOE | ARECB [ AHECGEA| FHm2)
FE LB HH[ 160 16.0
SR #jE| 5.0 5.0
NSRS B3E[  75.9 75.9
HRE(— %) 12.4 12.4
HIEGEEN) 14.5 14.5
Fm2)| 96.9 12.4 14.5 123.8




BEERE - EIH TR SfTHY T X 2 FR
Lm LIS Ho&
WL AE I
EHLERREIIT (As15emEL T)
H3E |Asbem L= 1.79 + 1.88 + 314 = 6.8 m
HAE (R A)|AsSem L= 0.98 = 10 m
gt = 7.8 m = 7.8 m
A < G RO W 8 A SR AL 5
EAERE 1.1 t/m3 /) t L ALy B HE
Asbcm V= 0.023 X 0.050 X 7.8 = 0.009 m3
&% = 0.009 m3 0.010 t
WA S AR M 8 A SRR AL Sy R 1 K
WLy B &= 2tE M
R IH V= 0.118 m3 W= 0.130 t
AEIH V= 0.009 m3 W= 0.010 t
2t V= 0.127 m3 W= 0.140 t 1 [
SHLERRRE: (As15cmBL )
HijE | Asbem A= 100.7
1B (—H%)| Asdem A= 23.9
A28 (e N)|Asbem A= 16.7
H= 141.3 m2 = 141.3 m2
AsERILSY
HE3H |AsSem V= 100.7 x 0.05 = 5.0
Ha (— %) |Asdem V= 239 x 004 = 1.0
A8 (e N)|Asbem V= 16.7 X 0.05 = 0.8
= 6.8 m3 = 6.8 m3
EREEN =L A= 100.7 = 100.7 m2
HRIE R PRk E A= 239 + 16.7 = 40.6 m2
AL A= 100.7 = 100.7 m2
SRR A= 239 = 23.9 m2
(— %
SRR A= 16.7 = 16.7 m2
CIN
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AT TP XS R

i ! H = o =

EHE - H - 15em

SR L= 36.40 + 2.60 39.00 m
¥'7'7+H+30cm

12 11 L= 1.60 1.60 m
¥'7'7« 4 -45cm

W E [= 440 + 3.00 7.40 m
ENEI A=

& 15cm LB

R A E T 15 L= 1/2 X 16.51 m/ T 8.26 m
W7 IR ) - A= 5.3 m2 A4 T H(25m2 A B AR AR FE) 1




2



=
=N

X THK

ik

juni
i gy <
- S
=
I}
7.
. B
1 L@M
i =
m
g
iE
i
o
o
ME)
15
I
= &
w i
o
%
H i




BHIET BEAHE



HIH T HAE R

LA T — R 10m4Y)
870
150 20 180 20 500
SEEERIOvY (B4EBE MR)
sEFET1ke/{E
o L 2%
< [
2 o® .
[e=]
TR T : RC-40 S
avo)—Fk
870 18-8-BB, W/CTEE 2 L
A=0. 147m2
4 & ATl e &
AREHEBE R T 180X 230X 250 X
D 600(F /- BFEIR) 10.000 m | 10.000
o 18-8-BB B} .
EiApe N ( 0.170 + 0.200 ) x 10.000 m?| 3.700
i | PRI RIS 0.147 m?| 0.147
FLH L 1:3 HHNZE T
T A% (H9E) [RC-40,t=20cm 0.870 x 10.000 =2l 8.700




BN THAL R

AR T P PN 10m%4"
870
170 200 500
SEERER IOy 39
200/205 x50/70 x 60 &&= =18keg/{&
O ed—
R g g
(]
TRERET - RC-40 S
arvo)—Fk
18-8-BB, W/CHeEHE L
870 A=0. 154m2
£ FR b S Bzl % &=
SHIEER T [200/205%50/70 %
a7 (779h) 600 10.000 m | 10.000
T 18-8-BB ) 5
T e SN ( 0.170 + 0.200 ) x 10.000 m?| 3.700
- : FIE TR 1565 2
HfE B A 10mm,@10m 0.154 m?| 0.154
FLH L 1:3 SHNCE T
T AR (H258E) |[RC-40,t=20cm 0.870 x 10.000 =2l 8.700




BN THA R

LAHAEMTO &Y OFiATY
FEX — 16 &5 b 8
_ 800 ) 870 LEGHE (b vty D5 G, 2%)
SEEE102ke/E
50 700 50 150 20 180 1zc‘) 500 (7 Fh (25, B8, AL
I o I ! Zuﬁ 4_'
3 S ] e
= ogm— e I %
Fe =78 o
i -
== IE
o ﬁu“’, 140 730 ﬂ%
5 o 2
150 300 150
150 | 500 | 150 [ 600 ]
I 800 |
% B Hir| ¥ &
HHIEEER T (180X 230 X 250 X
. 600 LB RERTR) 0.700 x 10.000 m | 7.000
A 730 X 80 X 700 10.000 & | 10.000
T —F 7% | T-25, @, 18 1k 10.000 | 10.000
Y —) éﬁ/’;g%ﬁ 0.800 x 0.600 x 0.370 < 10.000 m*| 1.776
- 0.500 x 0.300 x 0.370 x 10.000 -0.555
( 0.150 + 0.140 ) / 2 x 0.120 x 0.700 x 10.000 0.122
2 m®| 1.343
T o s ( 0.800 + 0.600 ) x 0.370 x 2 x 10.000 m? | 10.360
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